what sapp: +92 323 509 4443, enmmil: negal ecture@nuil . con

CHAPTER 8 : CIRCULAR MEASURES (Sukatan Membulat)

Topic 8 Circular Measures ::::::::2: v 8.1 Length Of Arcs (Panjang Lengkok)

egl; the value of @ must in radian
except the infront of the & have

Length Of Arc 4B = »|8

10
B sl s sign of sine, cosine, tangent
5 i :
AB=10cm#
10 **Note:
3 Length Of Arc 4B can be written as 4B
eg?: ek
10 4B =16  rad. =180°
s 60° \3%
o) 60° ABZIOX[OXFE' rad.]. ‘:‘:MX;{ rad.
180 180
M AR =10.47 cm (2d.p.) # e=2r
Circumference = »&
B —r(27)
=2mr#
Note:
(i) Convert degrees (°) and minutes(') to radian | (i), JConvert radian to degrees (°) and minutes(")
68°27' =827 7 tad T rad — 200 yane o
il I 180°= 7 rad
=1.195 (3dp)# =114°35'# ol T
- o7 rad.
180°
Topic 8 Circular Measures 2211w 2.2, Area Of Sector (Luas Sekifor)
< egl:
2 Area Of Sector = lr" (6 rad.)
2
O 1 rad. 1 ’
Area Of Sector = 5(10) (1rad.)
X =50 cm* #
B
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2g2
4 Radian Method :

10 Area Of Sector

|

#

(=}
l(10)1 i x 71 rad.
2 180°
50 ¢m’

O
Il

i _ X7y’
360°

10 Degrees Method : |use the formula =

i 2
X 7Ir

Area Of Sector = 360

60°
=%><7r(10)2

= 52.35987756
=52.36(4s.f ) ¥

Proof the 4= 113 (6 1ad) and4 = ——x s
2 360°

XX
180°
£x180°
x=
i3
Substitute [2] into [1],

[9x180°]
A=> T Jygy

Ry

360°
4o 0x180° 1
o 360°

Angle in radian, & =

x gr

A= %6’?‘2 [ area of sector in radian]

Topic 8 Circular Measures ::::::::1 v 8.4 Area Of Triangles & Area Of a Segments (Luas Segitiva & Luas Tembereng )

B eg:

Area Of Triangle = %bc sin.4

Area Of Triangle = %(10)(12)Sin(60°)

=51.96 cm’(2d.p.)#

A=y =79 €
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eg.
Area Of A Segments = Area Of Sector — Area Of Triangles

= lr2 (@ rad.)—lr2 sing°
2 2

| e L _
‘,-'\.rcu Of A Segments =i |(f rad. Hlil("'l

Area Of A Segments = %(10)2 H 6?;()” ]— sinﬁoo}

=9.06 cm’(2d.p)#

eg:

The diagram shows a arcs PQ and RS for 2 cireleNwith centre O. Given that OP = OQ =5 cm,

PR =S and RQ are perpendicular with the<{@/1f the length of arc RS : the length of PO =3:1
and =1 rad.. Find the length of PR.

Solution :

r=10%r
PR=0S=10cm

END OF TOPIC 8: CIRCULAR MEASURES

oo
MEGA LECTURE
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